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Question 1 is compulsory g o ,

Ay > : \,‘; “\ :
Attempt any three from remaining o (& A i
Assume suitable data wherever necessary and mention it (Icmly
Figures to the write indicate full mn_rkx

Attempt sub questions in order,

Write a brief note on any loul oLthe followmg

1. ‘
a.  Ranging and types otn‘mgnb ;:‘.‘;\ Ao & 5 (05)e %
b.  Characteristics of mmour lines % : (05)
¢.  Fundamental lines or axes of a thoodo]ltc ey Pl > # (05)
d.  Working principle'of EDM and its uses in ?mveymb (05)
e.  Necessity and types of curves. \ ‘ Q. (09
2a.  Explain the terms contour interval and horizontal equivalent (05)
b. Differentiate between Prismatic and Surveyor compﬂss ‘ \ ] (05)
¢c.  Bearings observed.in a compass travers with a compass are glven belowsFind the (10)
station affected by local attraction and correct the bearings. Also find the true bearings
of the lines if the magnetic declination'is 4° 30’ W Tabulate the corrwted ‘bearings.
Line Fore Bearing Back Bearing N
AB 305°00° 125°30)
BC 75030’ 254°30°
CD . 115°30° 297° 007 e
DE 1557300 & 345%0° &
EAS w225 00’ : " 44°00"
: : T ,ﬁo
3 ;:‘1‘.'\' Discuss in detali about the field procedure of profile le?ellmg and cross sectioning (10)
» with necessary dlagrams
b.  Determine the missing data, Apply usual checks. (10)
Station nS. DS E:S| Rise Fall H.I RL(m)
1 AR b y . 23.18 | 20.00
i L 1.59 a3 M 9 % ?
Al 02 ® .. 108 [© 7 ?
e 7 | i 5 S 1R ?
o5 A KE 2.19 i
6 ? : ? . 15.72
7 g 2.95 ? 2
4.
a.  Following data,,belongs to a theodolite traverse. Balance the traverse using (03)
transit rule,
& Line Length Latimde Departure
S ANN 300.00 $129.56 +4.52
Ny, 0 147.60 +17.27 +299.58
CD 307.20 -147.53 +4.94
i /DA 129.60 CPEES R e :

Exphm temporary adjustments of a transit theodolite.

0. Dmcuss the dntinculms in chamm:, b ey ()
% Following offsets were taken from a chain line to an irregular "i‘"“ ‘u?d o

dir “Calculate the area enclosed by the chain line, the irregular boundary ¢

Offsets using Slmpson s rule & trapezoidal rule:

\
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= : '7 »v : \\": .
Distanceinm |0 |6 |12 13\“ 57 369748 16 5

Offset inm 38 130 |29 S JL16 1.8

13

Explain the different method&used for omentatlon of plane table
Discuss the function and components of GPS. :
Following observations were made on a vertically held staff thh a tacheometer

set up on an intermediate point on a straight-line CD. The instrument was fitted

with an anallatic lens and had.a multlplymg constant as 100. -Compute the
length CD and the RL of D. RL of C is 527.63m

[= o~V

(e}

Staff

station

Vertical Angle

Staff mtercept

-Axial hair--
~o  reading:

C

S

2. 880

2,505

o

=8° 36’

1.655

2:850

R |
=

E\plam methods of tacheometry and its suitability.

Discuss the procedure for setting out deflection angle using theodol;te

Tabulate the necessary data for_setting out a simple circulareurve with the
~following® data. Angle of intersection = 144°, chamage of peint' of intersection
= =1390m:; Radius of the curve=300m, The curve is to be set outby offsets from

chords produced with pegs at every 20m throughout thé cha’fnage

(05)
)
(10).
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